stress test

1. 482°%y3 + 0O = (—222%y)? oA O Qtef] gur2 422 5.

= X - :

® —6xy @ 6xy ® 12zy
D —22% — 2y @ —22%2 —1lzy
RIS
6y by ® 822 + 1lay @ 822 —zy
® 22 +ay

2. W] k=] Folrt 20 ¢ APl Holrk da -
2% 9 1, AR Fol=?

6. 3x(x—5)+4x(1-32)=azr? +bx+c L M, abc 9

e
4d’'-2a’b
T —— Do @ —11 ® —20
@ 99 ® —99
@ a®—a @ 2d% +a ® 2a® b

@ 2a? —ab ® 2a% + ab

1 1 _
7 <3a - 5b) (3a + §b> £ Aofsha?
1 1
3. 7}29) Zol7} 3a+2, A=) Ao} 5b Q1 A4t © 302 - 117 @ 302 - 117
EC’C}:QJ i]-‘l:‘l_:oﬂu 17%% }\D]—(—)—qu— _é} . a4 = 1, b =2 OE"' @ 60/2 _ Zbg @ 961/2 _ %bg
off, WolE steiet. X
@ 90/2 ZbQ

8. (z+a)(zx—5)=a22+bx+15 < T, a, b o] FF-2?

4. z=2,y=-39 1, 2z+5y— 3y — 3z) = A3}
—p @D a=-8, b=-8 @ a=-8, b=-5

®a=-3b=-8 @ a=3,b=5
©® -8 @-4 O1 @ 2 ® 4
® a=3,b=-5




9.

r=-3y=-29%0 2%y + 3zy? +2x2y—4y2 ol 13. & H7] &= o]xpAle = | A ol7}?
e @

—}

Q 4x2 — 5z
@ 16 @ 17 ® 18 @ 19 ® 20

© z(4z —4) + 2 — 422

1
@ ?—.’IJ
@ (2—4x+32%) —2(2%—4x+1)
10. th 5A40] AP W, a+b+c o g Fatelet. o (Lia 1) (1w L)
2_4\3 c, 12 2
2yz) _ byz
xa - .’E12
D 17 @ 274 ® 374
@ 47\ ® 5 7N

. _0__27:]—77 17—]_7 %742—1 .
11 qnvel—}]"/}tﬂ ]/\J}q = eﬂ'a]' 14. E}%l%ﬂ&‘@@?%g 15430]%?
_--2x-~L_ -3~
@ a2t+2+2 © a®xa® f \
© (a2)2 % a2 @ a?xa®xa 3“/’,
@ (a2)3 \
| 2
@ 622+ 5z — 6 @ 422 +122+9
B 922 — 12z +4 @ 622 —5x+6

® 422 -5 +6

12. 74 a,b ol Hist] 3z — 5y — {y — 2(22 + 3y)} =
ar +

by @ W, a+0b 9 gH& F-skeiet.

15. 50— 2y = 4z +y -3 L4 ™, 52 -2y +5 5 z °l
e Aoz vehfolet,




16.

18

19.

oh 1 o] W] 7k2 O] Fol7t 3a , HZ 9
Zol7t 2a 1 A-EHA Q] Hul7t 184¢% — 15a%b 2HaL
ettt a =6, b=4 4 o, £o]E oot

@ axaxaxa=at

® a+a+a+a=4a

o (1) a0 ge Foier:

215 AA 9] 7F2 2] Do)} 3a, A2 9] Zol7} 2p 0],
K17} 246’0 4 ), Eol=?
@ 4a

@ 6a @ 4b

@ 3ab ® 4ab

20. bZollA &2 AT et vt=A A2 A27

1
© a=a®=—

a?

@ db~at+-a?=a

ORONS @ e ® ©

ONENC) ® 0,0,©

21. ol TFHA] A o] —o—2y+4 5 ESHAEY do-ty—3
o] Hgiet. THHAl 4 =7

O —z+2y-7 @ —x+3y-3
® br—2y+4 @ 5x+3y—T
® bx+3y+7

22. (—24xy?)+12zy x A = —8x%y, —8x2y*+ B xa?y® =
203y A W, Ax B, A+ B2 < A== F51H?

@® 422, —dxy* @ —%, —1623y*
y
@ —162%y4, —— @ 160%y4, =
y y

® —1623y*, —zy?




23. p o] AA4 ©, thg AL WEFH= 0+ b O G2

Fotofel,

Zrts] spH?
O 222 — 4oy — 29 @ 222 — 4oy + 29
® 222 — day +y? @ 222 + day + y?

® 22?% + 4oy + 44>

1
25, 0 L ool ape 39 gre9
C a

@1 @ 0 ®-1 @2 ® -2




